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MEE TESt7| /sl OfLtECHAnaconda)E AX|stD, 7HAtetE 2 M BtL
* conda create -n weather python=3.8

MAE 7Hd=tdoz S0{7t 2ot 7| X[ & AX|gL|Ct J2|1 jupyter notebookS A e BtL|C,

» conda activate weather

* pip install numpy pandas matplotlib jupyter seaborn scikit-learn tensorflow geopy folium graphviz
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1. GIo|E| S| 2eldtv)|

- Ground_weather_data EC{Qt0] = of2iet 20| HF X|9H IN HEE Zgstn YESL|Ct

import os

from glob import glob
import pandas as pd
import numpy as np

data_dir
save_dir

'./ground_weather_data/'
'./data/"’

dirNames = os.listdir(data_dir)
print(dirNames)

['aws330', 'CIO|E{Zr_MY.txt', '.DS_Store', 'aws893', 'asosl88', 'aws779', 'aws792', 'aws793',

'aws885', 'aws884', 'A|FZEHYTUTAL-7|YYUZL_OHEFE . csv', 'asos184', 'aws863', 'awsB65', 'aw
s328', 'aws329', 'aws781']
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(EY ALYOR E0f Qi HE B AT TR0l £X P20z Ho[E T8 HENFE
#48 BEUL

from datetime import datetime, tzinfo
from dateutil import tz

import pytz

import time

# Bt AlZh Elglo] =X ZI+EIOZ COJE(E HiEtEICY,
def rain_sum(df):
prevStr o

timeStr
sum = 0.

SN n

time_list = []
hour_rain = []

for i in range(@, len(df)):
timeStr = df.iloc[i,0].split(':')[@]
# O/ i Hxf @Yo ', &, Al'2A1Ho| gictH
# 22 'Al'0f HEEE2 =xoz o sfFL/ch
if prevStr==timeStr:
sum+=df.iloc[i,1]

# 2XIZ0| Cf2cipl ' Al' JF HooZ SHE gl 2/AE0 XNESI
# sumglE MEAH X517 AIEEMLICE
else:
time_list.append(df.iloc[i,0])
hour_rain.append(sum)
sum = df.ilocli,1]

#print(df.iloc[i,@],sum)
prevStr = timeStr
return time_list, hour_rain
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2. ASOS, AWS H|O|E| S A ZtT g

- ground_weather_dataZ 0] = DY S0 rain-'?-xfm% Zeol= XS
022 M1 ot A7t £ X ZsFoz HEst, A7 ZXtE %datetimeEH’JQ ehetLiCt
import re
for dirName in dirNames:
csv_list = glob(os.path.join(data_dir,dirName, '*.csv'))
for csvFile in csv_list:

# Ol rainS Z3Eh= WS ASLC

count = csvFile.find('rain')

if count>0:
fileName = os.path.basename(csvFile)
print(csvFile)
# gl 27|
df = pd.read_csv(csvFile, encoding='cp949')
fileFront = fileName.split('_')[0]
filterStr = re.sub(r'[0-9]"', '', fileFront)
if filterStr=='aws':

# X ZE 4A(EER)
df.drop(columns="X%%"', inplace=True)
# ZSXF 022 MYzl
df.fillna(®, inplace=True)
# Bt AIZIEIRIZ ZIEtg B
time_list, hour_rain = rain_sum(df)
# pandas DataFrame 44
value = {'¥A|':time_list, 'Z4%':hour_rain}
# AlZtg 2488 XNESHs GIoJEZelg) 44
df2 = pd.DataFrame(value)
# CIO/EES AlZt EfYo2 B
df2['2Al'] = pd.to_datetime(df2['ZAl'])
# GJOJE] +& Z|Zt& 2020-3-1 0:00 ~ 2021-1-1 0:00
df2 = df2[df2['&Al']>"'2020-3-1 8:00']
df2.set_index(keys="'2Al', inplace=True, drop=True)
df2.to_csv(save_dir+fileName, mode='w', encoding='utf-8-sig')
8 Customer Forever



3. ¢t A|lZE 9| 2 H|o|E] F7] HF(1/2)

-9id 102 THRI2 E|0] Q= HIO[E Q] FI|E 142 THel2 HE gL o

def oneHour_avg(df):
prevStr = '
timeStr = '

temp_sum
wdir_sum
wspd_sum
humi_sum = 0.0

mmnn
[~ -~ ~]
[~~~

time_list
temp_list
wdir_list
wspd_list
humi_list

mmwnmuwn
e el e e et

for i in range(@, len(df)):
timeStr = df.iloc[i,0].split(':"')[@]
# O/F o s gof ', .2 Al' 2xfZo| Ziored
# 22 'Al'0) sfgsroE =EoZ O sfELC
if prevStr==timeStr:
temp_sum += df.iloc[i,1]
wdir_sum += df.iloc[i,2]
wspd_sum += df.iloc[i,3]
humi_sum += df.iloc[i,4]

# SXAZol Cf2Ci ' Al 7f B2 FXEH gig S[AEd XNESIZ

# sumgls MEAH +X817] AFELIC.

else:
time_list.append(df.iloc[i,@])
temp_list.append(temp_sum/6)
wdir_list.append(wdir_sum/6)
wspd_list.append(wspd_sum/6)
humi_list.append(humi_sum/6)

temp_sum = df.iloc[i,1]
wdir_sum = df.ilocl[i,2]
wspd_sum = df.iloc[i,3]
humi_sum = df.ilec[i,4]

prevStr = timeStr

return time_list, temp_list, wdir_list, wspd_list, humi_list
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3. ot A|ZE 9| 2 H|o|E] F7| HE(2/2)

for dirName in dirNames:
csv_list = glob(os.path.join(data_dir,dirName, ‘*.csv'))
for csvFile in csv_list:
count = csvFile.find('rain')

# B0l raings EEE(A Q= HEs &L

if count<@:
fileName = os.path.basename(csvFile)
#print(csvFile)

# ore g7|
df = pd.read_csv(csvFile, encoding='cp949')

# ZEFiE 022 HY=cf.

df.fillna(®, inplace=True)

# B AIZIEIRIZ B8 £+FEI)

time_list, temp_list, wdir_list, wspd_list, humi_list = oneHour_avg(df)

# pandas DataFrame 44

value = {'ZA|':time_list, '7|2':temp_list, 'Z':wdir_list, 'Z%':wspd_list, '&&'
# AlZtgt 22l AFEHEs Glo/ElZEg &Y

df2 = pd.DataFrame(value)

df2['2Al'] = pd.to_datetime(df2['2A['])

df2 = df2[df2['2Al']>"'2020.3.1 8:00"']

#print(df2)

df2.set_index(keys='ZA|', inplace=True, drop=True)
df2.to_csv(save_dir+fileName, mode='w', encoding='utf-8-sig')
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4. 2|°d4|0|E{Q] UTCA|ZHE ME A2t B HE5= et

# UTC Time —> SEOUL Time
def convTime(dt_str):
timeFormat = "&Y-%m-%d %H:%M"

# Create datetime object in local timezone
dt_utc = datetime.strptime(dt_str, timeFormat)
dt_utc = dt_utc.replace(tzinfo=pytz.UTC)

# Get local timezone
local_zone = tz.tzlocal()

# Convert timezone of datetime from UTC to local
dt_local = dt_utc.astimezone(local_zone)
conv_time = dt_local.strftime(timeFormat)

return conv_time
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5. 71’3 HIo|&| F0f Trup= AL C|O|E{ T 27| 1 AH|

data_dir = './sat_data/'
save_dir = './data/'
csv_list = glob(os.path.join(data_dir, '*.csv'))

for csvFile in csv_list:

# ot g7/

df = pd.read_csv(csvFile, encoding="'cp949'}

dropCol = ['Unnamed: 1', ‘dim_y', ‘'dim_x', 'ASR',
'"ASR_DQF1', 'RSR', 'RSR_DQF1', 'SW_DQF',
'gk2a_imager_projection']

df.drop(columns = dropCol, inplace=True)

# ZSIF 022 Y=L
df.fillna(®, inplace=True)

# UTC —> Seoul TimeSZ HZEiHHf.

conv_time = list(map(convTime, df['date']))

df ['date’']=conv_time

# ZEHS +FsIC ‘date'— ' YAl

df.rename(columns = {'date':'%A|'}, inplace=True)

df['"2AlI'] = pd.to_datetime(df['&Al'])
df.set_index(keys='2A|', inplace=True, drop=True)

# oHEpts IR,

fileName = os.path.basename(csvFile)
df.to_csv(save_dir+fileName, mode='w', encoding='utf-8-sig')

12 Customer Forever



El_—Jlk—gl' 7|'

o

p N e |
-

Heot EX|He 2 A5

- o7 10E T2 £|0f QL= HO[E Q]

=t AEo AEX[FHO| A= B 7HE 7P CHH| X[ 22 S C.
matchFile ='./jeju_geo_match_info.csv'
# o g7/
match_df = pd.read_csv(matchFile, encoding='UTF-8"')
match_df
g Z:  B0E fF XHHS M XH oA diMRk:
0 33221816 126.252994 CHHE aws 793 CHE 332410 126.2263
1 33.240160 126.380600 3l0IS  aws 328 EE 33.2494 126.4060
2 33246950 126.480270 HEE aws 884 714@h 33.2593 126.5176
3 33.246790 126563960 M7Z aws 884 7|4@h 33.2593 126.5176
4 33261770 126.386780 A0|E aws 328 F2 33.2494 126.4060
-HQo YR 7|0 LHHX| = ARIgL ).
dropCol = ['®I=', 'd:=', 'HAQI=', 'CHHAZ', '7WIL XIH')
match_df.drop(columns = dropCol, inplace=True)
E0|IE R FEME
0 EE aws 793
1 8lollE  aws 328
2 ZEHE aws 884
3 MAE aws 884
4 HUE aws 328

-SEE JHE 72 AEXEL He R ndE S FoletL

fileListl = []

fileList2 = []

for i in range(len(match_df)):
fileListl.append(match_df.iloc[i, 1l+str(match_df.iloc[i, 2]1)+'.csv')
fileList2.append(match_df.iloc[i, 1]+str(match_df.iloc[i, 2])+'_rain.csv')

match_df ['TH&H1'] = fileListl
match_df ['Tf2HE2'] = filelList2
match_df
E0I5 /¥ AEd=E o 2
0 WES aws 793 aws793.csv  aws793_rain.csv
1 slolE  aws 328 aws328.csv  aws328_rain.csv
2 ZHE aws 884 awsBB4.csv aws884_rain.csv
3 MAUE  aws 884 awsB884.csv  awsB884_rain.csv
4 HOIE aws 328 aws328.csv  aws328_rain.csv

FIIE 1MZ B9l 2 HFRL L f2[7 ERE Sl=
=

13
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7. "XEet Ml 72| H[o[E] m S StLEZ K| 7|

data_dir = './data/'
save_dir = './merge/'

for i in range(®, len(match_df)):
# &g Cof SAF

mergeFile = data_dir + match_df.iloc[i, @]+'.csv'
merge_df = pd.read_csv(mergeFile, encoding='UTF-8')

# 22 F oy ;. oY’
precipFile = data_dir + match_df.iloc[i, 4]
precip_df pd.read_csv(precipFile, encoding='UTF-8')

# 72, 5%, F%, & % nig : 'Hean’

awsFile = data_dir + match_df.iloc[i, 3]

aws_df = pd.read_csv(awsFile, encoding='UTF-8")

# Cljofe{ Zefglzt Bfxf7|

# P14 LAEF GlojelZE Szt S2F =EEQICH

# OjefA AWS,ASOSCIOJE(E Bl Alx sfFofof Sicf.

# 224 LlojE{ZelgE EIAlEH ZlES ZAE GlojEle] glHAZ Eif,

merge_df = pd.merge(merge_df, precip_df, how='left', left_on='&Al', right_on="%A|")
merge_df = pd.merge(merge_df, aws_df, how='left', left_on='ZAl', right_on="'%Al")

#merge_df.set_index(keys="2Al', inplace=True, drop=True)
merge_df.to_csv(save_dir + match_df.iloc[i, @]+'.csv', mode='w', encoding='utf-8-sig')
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8. M| Eff g THT HIo|E 57|

-of2fof ntd S Soff HF EfYE SLHY HOEE Y2 + ASLIC o ot S En 2Ho Hj0|H =

AtrgL .

solarPowerFile = 'E=2FAHe4 AlZHE KX HF e

=]

SHLE_20149-20209. csv'

# g 27|
power_df = pd.read_csv(solarPowerFile, encoding='cp949"')
power_df
Hey HAlZb RXEY SUHY SKBH SUHY AFEHYT SUHY ®FE= SNy
0 2014-01-01 0 0.000000 250.214160 0.000000 37.235992
1 2014-01-01 1 0.000000 230.334882 0.000000 40.034720
2 2014-01-01 2 0.000000 224.563859 0.000000 36.944184
3 2014-01-01 3 0.000000 223.519520 0.000000 30.664892
4 2014-01-01 4 0.000000 216.955896 0.000000 24.566528
61363 2020-12-31 19 406.184674 823.291232 0.436184 169.120761
61364 2020-12-31 20 289.995063 772.872278 0.025248 151.415406
61365 2020-12-31 21 164.918523 740.541095 0.000224 152.391992
61366 2020-12-31 22 69.294937 734.738133 0.029552 150.711033
61367 2020-12-31 23 15.777139 617.367822 0.000216 137.878316

61368 rows = 6 columns

15
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el ol
'—HII-Q'- A|7|-—° ol-ol.o:l OlAl FHed2 AHA
= = H = =202 OO0
- WL A[ZHS eoto] LAl 2 S Mdstn M| F EfLE F 2TS Helstn UMx| 2ES
AtrgtL|ct J2[n YA ZHO| EtYU S datetimeEtY O 2 HASID, indexE HZATIL|CL.

dtList = []
for i in range(len(power_df)):

dtStr = power_df.iloc([i,0] + '+ str{power_df.iloc[i,1])+':00"

dtList.append(dtStr)
power_df['ZA'] = dtList
power_df
for i, timeStr in enumerate(power_df['2A|']):

power_df.iloc[i,6] = (timeStr.replace('-',"'."'}))
power_df
delCol = ['He{"', 'HeHAlZt', 'SAEKYY SYUHEY', '|XSH UL, "N SLHY']
power_df.drop(columns=delCol, inplace=True)
power_df['2A|'] = pd.to_datetime(power_df['24A|'])
power_df = power_df [power_df['¥A[']>"'2020.03.1 8:00']
power_df.set_index(keys="'&A|', inplace=True, drop=True)
power_df

HIFEfE SUHY
oAl
2020-03-01 09:00:00 5.594496
2020-03-01 10:00:00 11.325051
2020-03-01 11:00:00 17.675403
2020-03-01 12:00:00 22.734366
2020-03-01 13:00:00 27.707441
2020-12-31 19:00:00 0.436184
2020-12-31 20:00:00 0.025248
2020-12-31 21:00:00 0.000224
2020-12-31 22:00:00 0.029552
2020-12-31 23:00:00 0.000216
7335 rows x 1 columns
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1. o 22327

-C|O[E{ & X{2| S}i=Cf| 2ot ij7|X|§ 22| JLICt

import os
import pandas as pd
import numpy as np

pd.set_option('mode.chained_assignment', None)

CEHQE

gotn e H

FEERAE B

SSCIO/E(ZENAN TS EfSFB T4 3 oY COH2EE
# https://www.data.go.kr/data/3082724/fileData.do

YUTAHE 20220630.c5v' THYUS

. CsvaFQHo= 3+20] TEHE0| Q0] encoding® ‘cpod9’' 2 AL

df = pd.read_csv('HFSENA_EfFYLFHAHE 20220630.csv', encoding='cp949')
df

#EN BUS 87k xt HE  HHIBE(KW) Hel  AlRZHAIY ololE7IEYR

0 HFEAM FES 1998-06-10 HRBAWHCHR|(17} 3480.0 AY7HAl 2000-04-05  2022-06-30

1 HFA HE 2002-12-09 T AOLRI(E) 1000.0 AYZHAl 2002-12-18  2022-06-30

2 HFEA #HEW 2003-04-14 BHHEES 1CH 6000.0 AM7HAl 2004-02-28  2022-06-30

3 HFEA AT 2005-04-04 AEEHUFHCT 1700.0 AMR7HAl 2006-03-03  2022-06-30

4 HFAM FzHS 2005-08-30 HFEIBAYIL 1500.0 ArR7HAl 2006-07-20  2022-06-30

2143 HFA #E®  2022-06-08 PR AT 99.6  2I&7t NaN  2022-06-30

2144 HFA FES 2022-06-08 FEY4S EfLZUFL 99.0  2I&7t NaN  2022-06-30

2145 HFA FES 2022-06-08 FY3IS EfUZYFEL 99.0 287t NaN  2022-06-30

2146 AFA FES 2022-06-08 FY5SS EfUZYFL 99.0  2I&7t NaN  2022-06-30

2147 MFAZEA HUE 2022-06-21 EEl2SLssUEL 210.0 2&7 NaN  2022-06-30

2148 rows x 8 columns

18
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2. 282 Hojg &8 =elst|

- 910{2 Ci|o[E{ = TEtA Lo B =2 Y EtHo 2 XBPE| =0 HolE el 2-E EHES2 &oldh|
?lel info) &+ A8OI0 BEE EHELIC

df.info()

<class 'pandas.core.frame.DataFrame's
RangeIndex: 2148 entries, @ to 2147
Data columns (total 8 columns):

# Column Non-Null Count Dtype

6 I 2148 non-null object
1 SUs 2148 non-null object
2 SR 2148 non-null object
3 4= 2148 non-null object
4  dH|22(KW) 2148 non-null float64
5 He] 2148 non-null object
E AHAHA Y 1571 non-null object

Go|E7|ZLAt 2148 non-null object
dtypes float64(1), object(7)
memory usage: 134.4+ KB
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3. 25X &H

-2019'3 12E7HX| 2] E{SE EH & H|O[E{Th MEUSET| ISHM = AFA/HA|Y ERO| SRt
257t QlSLICt 25K Ho|E{E AR .

# APgAfAIZo] Rl Gloje{at Zapict.

# AMWAIZO] Gi= CfOEIE OFF Pla{2[7F XFZE2l ZI0/B2 drop
df = df.dropna(axis=0)

df
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4. HIO]E| O] &HX| 47

1 154 1 4o =2 S
- AFUZHA O] AX[ T MEf DT O] ‘ArAIN A7t Ol BRE =HQls EL Ct.
# AZUIAIZ0f Z|SE|Q= A P ZAFEIE ,  2lEFF o HP
df [df ['&fEf " ] 1="AtRIZHAL" ]
™A SUE 8| 71elxt 45 dH|22HKW) el A7HAIYL  ollolE{7|EUR
6  HFEAl FEY 2006-08-11 EEMIAEH YL 30000.0 BAMEE 2017-09-16  2022-06-30
29 MIAEA S 2008-02-28 HAHES 1T 12000.0 SMZE 2009-03-30 2022-06-30
583  HIFAl AW 2016-11-16 HERUE 750.0 2/&7 2016-11-16  2022-06-30

- Ml BAVEIO|ALL QBT R K0 9

df.loc[6, 'HEi'] = '

df.loc[6]

df.locl29,
df.loc[29]

df.loc[583,
df.loc[583]

el =

AFRHZHAL

" ARRTHAL

HER'] = tARIIALY

IX| O AFH7A|LO| =B R AIH7A 2 X

21
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-AIHHA Y E A2k 2 HEoEH EXEEIY M datetimeEIY 22 HZASID
sort values8H4 2, ARIIAY HALS JIEo2 HLICE 12| 1 MAS M2 ML
df ['MHHAIZ '] = pd.to_datetime(df['AFHZHAIZ])
df.sort_values(by="A7A|2", inplace=True)

# CllojE{Zegle| PlHAR MEH 4Bt
df.reset_index(drop=True, inplace=True)

ARE 7[M, 287t ZEELCL GUFo= 28 EfYE LA PO Z E|0f QX[
EfFZ2H0] bl AT ofLfX] H A FH2| BRI ZotE[o] ASLICL == EjLE
LS e ol a7t Ao EYLC.
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6. &£ CIE csvit E2{27]

x| = ATHAY O L K| LM Al S 20200120.csv' Y S E2{SL|Ct O] THUE
2{2 0, encodingS ‘cp949'E AtEELLE.

_E_I
o
mjo
Mo mE

df2 = pd.read_csv( 'HFSUIA|E_AXHOHALEAESE_20200120.csv', encoding='cp949')

df2
&|712xt 4% MHISTKW) HAFTA MAXY HESASE  MWIAY B CIOE7IEYUR
0 201844 (RILFE(LFRE L) 496.80 HEA ojEE Ef2tE  2019.4.26 S 2020.1.20
1 2014.107 (R)0I7 152t ef e A 1800.00 HEA  FEE Bz 201571 U8 2020.1.20
2 2014.5.15 (R)FHUTOILIX|(MDH=ZESEALHUT L) 516.00 AMFAEAl HEE Ei2E 2014.10.16 U 2020.1.20
3 2014.129 (R)ESOISElYBUTL 99.00 MAEA HFE Efgf2 20151029 gEi& 2020.1.20
4 2014.10.14 (RIFF =tz 2198.00 MFAZEA|  HF Efigrat  2019.1.31 g8 2020.1.20
836 2018.9.19 FL3 e LA 93.15  MIAAZAl  EMH EigE 201934 SY 2020.1.20
837 2014.10.28 B|g2 EfYPUHA 99.00 MIAAZAl  HME Efigta  20156.22 SIS 2020.1.20
838 2014.10.29 B84 EfYFUTA 99.28  MIFEAl HUS Efigd  2019.7.11 SIS 2020.1.20
839 2014.10.29 BI85 Ef UL 99.28  MIZAl  HMS Eigtd  2019.7.11 SIS 2020.1.20
840 2014.10.29 B gefAUTA 99.28  MIZAl  HUT ez 2019.7.11 S8 2020.1.20

841 rows x 9 columns
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b b AL}

o o [
M | =13 =2 C = 1i}lOlI o =2
-0 ot MA{ MO X] 2HA MHE B2 s TtolX| T ASHER 20| A0 A
[ X=1 H3SF A 2
eSS 2 = ASLICL
df2 = df2[df2['ASHER " |=="EZL"]
df2.reset_index(drop=True, inplace=True)
df2
B{7txt 45 MHISBKW) HUPEA MRXY USAZT  MAMAY FE  dlojE7IEYUR
0 2018.4.4 (FILHRI(LHRE T L) 496.80 HFEA OHEE EfgE  2019.4.26 =4 2020.1.20
1 2014.10.7 (F)l71&Et EfQrR A 1800.00 HEAl IEG Y 201571 © 2020.1.20
2  20145.15 (R)SEUI0LK|(MUIHEeSE YY) 516.00 MIEA HES Efigtat 2014.10.16 SiE 2020.1.20
3 2014129 (RIESOISEZHYTA 99.00 MFEA  THE EfgE 2015.10.29 g 2020.1.20
4 2014.10.14 (R)RIF = 2198.00 MAZA M Efgd  2019.1.31 U8 2020.1.20
806 2018.9.19 FL3 ElSHUTL 93.15  MFZEA  BMU B 2019.3.4 | 2020.1.20
807 2014.10.28 B|@2 EYEUTEA 99.00 MFEA  HAE ElgE 2015622 g8 2020.1.20
808 2014.10.29 5|84 EYYUTL 99.28  MFAZEA  HiF Efgtd  2019.7.11 BlE 2020.1.20
809 2014.10.29 5|85 EYEUTEA 99.28  MIEAl MM Efigk®  2019.7.11 €l 2020.1.20
810 2014.10.29 S|RE YHUTA 99.28  MFZEA  HiE B 2019.7.11 §U8 2020.1.20
811 rows x 9 columns
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@ 1127

8. ClojE| #l=|’8 =}l

-2 DpUOol EfE EWHAQ| ZHTt 8117HQIC] A7t Aol M S2{RAT EHAO| 9}
Xto[7t QlojM HEO| M|/ SolstL|Ct 2019'F 128 7[EC 2 ME|E Wt HF=LY
EfQrd 2MAo| o HH| B YHE &0lst7| 2loff of2f X2 E HESIRSLICE
HFHERR| =
Hl6X} X|240]| L x| 7|2
<E V-3 Hod @3k ED) (20199 124 718
2 g A 23S =S
- S ) b/ ES S b ES SH(N) A
A 639,462 1,860 245,321 811 394,141 1,049

AR AFSEANE WEAE

Zu: NIMEUE
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for i in range(len(df2)):
addr = df2.loc[i] . HX[FFA + ' ' + df2.loc[i]l.gxXY
df2.loc[i, '#4'] = addr

8{71dxt M43 GHIBKW) MXPHA HRIXY AEASE  AAY PR dloE7|EAt Fi
0 201844 (FIHRLFRE R R ) 496.80 HFEA OHBE Efgd 2019.4.26 S|4 2020.1.20  H|FA OHEZ
1 2014107 (Rul7tse) Bl A 1800.00 HEA  AEE E2E 201571 B8 2020.1.20  HFA =T
2 2014.5.15 (F)FElZ0uX (A28 EsS el EELy) 516.00 MAEAl HES EfE 2014.10.16 S8 2020.1.20 MAEA HES
3 2014129 (R)SS0ISE UM 99.00 MAEA AHE EfE 20151029 S 2020.1.20 MAEA ZEES
4 2014.10.14 (®HE iz 2198.00 MFZEAl  AiE ENE  2019.1.31 €8 2020.1.20 MFEAl Ak
806 2018.9.19 FL3 Ef R 93.15  MAEAl  HHH Ei2E  2019.34 Y 2020.1.20 MFEA EMH
807 2014.10.28 2|82 EfEUT L 99.00 MFEA Mg E2E 2015622 B8 2020.1.20 MAZA HS
808 2014.10.29 B84 Ef U 99.28  MAEAl  HMT Efg®  2019.7.11 ©8 2020.1.20 MAZA His
809 2014.10.29 B85 EfEU T 99.28 MAEA  HMEF Efgd  2019.7.11 §8 2020.1.20 MAZA P
810 2014.10.29 B RE QAU 99.28  MIFEAl MM Eigty  2019.7.11 ©8 2020.1.20 MAZA i
811 rows x 10 columns
[o, | ol af 174 I AA ' L o2 3§ 3|
- AU AL O] AX|TH HENZTO| "AFUTHA' 7} Ol B2 =HQIo ELICE.
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15t7] 218l unique

-FATH BRI S SHLIE 58| Y8l unique B E ALBELICE

geo_addr = df2['#4"'].unique()
geo_pos = []

for addr in geo_addr:
geo_pos.append(addr.replace('Al',""))

print(geo_pos)

27
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11. T20M A" X} AHA|

-5l M geopyE AESI Pt BEZ HEA FA0f ‘Al'7F ZEE[0] QoW FYHo=
Heto| £|X| PELICE.

geo_addr = df2['F4"'].unique()
geo_pos = []

for addr in geo_addr:
geo_pos.append(addr.replace('Al',""))

print(geo_pos)
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SLIC} Geopy= EEQ)

L)
Fa0f cisy of7tel 7S 7Hx| 1 ASLICL B&
#

# 2tgl gio] FL—>ZFE HE
from geopy.geocoders import Nominatim

unique_addr=[]
unique_lat=[]
unique_lng=[]

def geocoding(address):
geolocoder = Nominatim(user_agent = 'South Korea', timeout=None)
geo = geolocoder.geocode(address)
if geo==None:
print('geo is null')
return @, @
else:
return geo.latitude, geo.longitude

for addr in geo_pos:
print(addr)
lat, lng = geocoding(addr)
if lat==0 or lng==8:

continue

unique_addr.append(addr)
unique_lat.append(lat)
unique_1ng.append(1lng)
print(lat, 1lng)
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13. GeopyOl|A| St= FA7} Q14 0] QHE Ij

ok= =X | X=X (o] a9 X = X
-HAEX| T geopytilM T2 FA7L QME[X] OIS Z A& FAE UG FLCL
ko_addr = ['AM7Z oIt 'AME HRAE', 'MAUE Z2S']
eng_addr = ["Andeok-myeon, Seogwipo-si", 'Namwon-eup, Seogwipo-si', "'29beon-gil, Seogwipo-si']
index = @

for addr in eng_addr:
print(ko_addr[index])
lat, lng = geocoding(addr)
if lat==0 or lng==0:

continue

unique_addr.append(ko_addr[index])
unique_lat.append(lat)
unique_1lng.append(1lng)
print(lat, lng)
index+=1
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14. F221 Bk, 3|=5 ArEot0 HjOo[E =2 &3

-0l EQE Fa0k FE PIEE AEOI0 HIO[E = A S dgBtLICt

df_unique = pd.DataFrame({'#4"': unique_addr,
'A% (x)": unique_lng,
"Yl=(y)": unique_lat})

df_unique

Fa Ax(x) A=(y)

0 HF0¥EE 126.375200 33.450790
1 HEIES 126.810550 33.516620
2 MHAZZEE 126.481362 33.232835

3 MIZ HHT 126916280 33.435961
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15. Folium= AlE510 marker®A|5}H7]

- Folium2 A28t markerE HEA|SID, htmlTHY 2 X &gt C},

import pandas as pd
import folium

jeju_map = folium.Map(location=[33.38, 126.55], zoom_start=11)

for i in range(len(pos_df}):
pos_list = [pos_df.iloc[i][1], pos_df.iloc[i][0]]
folium.Marker(pos_list, popup=pos_df.index[i]l).add_to(jeju_map)

jeju_map.save('jeju.html')
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lll. GIOJE] SE&EA =4

1. MIZF MX|YS SHte| CIO|E = 0f] &612]
2. MFENSS SETE HIOIE < &6
3. Heatmap&l+E Solf 22| Zel
4. ScatterE ESHAMEE I 2 S E0I



1. M= XY S ofLte| Hlo|E{ = Y of| et

- Ol M HXE|E CsvItYU S AOM ALESIX| 22| = HES delCol2| 2E0f MY FAIH
ELCt ol2gf ZEO|ME 'DSR), 'DSR DQF1', ‘A, 7|2, '8, ‘84", 'S HUS BF
AHERLICE a2|32 X|HE HO|E{ES BF 7IXQtof S=H| csvite| 2 FO| SYELICH

= = 3830 'Z+F0l 2L, ofE S0 = 20| A=l StLie] Hlo[E{ = Yo)= SUet

n

&
=

0It|
|I|'>

é

=
ZEY0| =X & USLICH WEEM csvatUoM 2 S 20{2tM SHE HIo[E =& Aof| F=7¢et o,
A S HANFOF SLICt of2fe] AEME XIS ZHEO F7IiA 2ROl CHEA|
23 o

# ['Unnamed: @', 'DSR', 'DSR_DQF1', '2kt2r, '7/2', '&8", 'E%', 'g&']
delCol = ['Unnamed: @']
firstFlag = True

i=0
localName = []
newCol =[]

for dirName in dirNames:
#X|9Y ZE =M E[AER 44
localName.append(dirName.split('/"') [2].split('."')[@8])

if firstFlag== True:
# ofgl gf7|
merge_df = pd.read_csv(dirName, encoding='UTF-8")
print(merge_df.columns)
merge_df.drop(columns = delCol, inplace=True)
merge_df.set_index(keys='%A|', inplace=True, drop=True)

firstFlag = False
else:
temp_df = pd.read_csv(dirName, encoding='UTF-8')
temp_df.drop(columns = delCol, inplace=True)
temp_df.set_index(keys='2A|', inplace=True, drop=True)
merge_df = pd.merge(merge_df, temp_df, how='left', left_index=True, right_index=True)

if 'DSR' not in delCol:
newCol.append('DSR_{}'.format(i))
if 'DSR_DQF1' not in delCol:
newCol.append('DSR_DQF1_{}'.format(i))
if 'z not in delCol:
newCol.append('%F#@;{}'.format[i]]
if '2%' not in delCol:
newtol append('n“ {}'.format(i))
if 'Z%' not in delCol:
newCol.append('Z%_{}'.format(i))
if '7|2' not in delCol:
newCol.append('?[2_{}'.format(i))
if '&C' not in delCol:
newCol.append('&%=_{}'.format(i))

merge_df.columns = newCol
i+=1

print(merge_df.columns)
print(newCol)
merge_df
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2. HIFE LS S2HT CIO[E = &t

- RN HFE HX[HO| HIO|E{ & StLte| HO|E{Z Y22 Bt 20
Matplotlib®i A o2 £=5t2{H of2fiet 20| EH S siH0

-
ot
-—

L

n

-

merge_df = pd.merge(merge_df, solar_df, how='left', left_index=True, right_index=True)
merge_df = merge_df.fillna(@)

print(localName)

merge_df.head(20)

-2BHHER EEZt =24 X017t L7 B2 2 SHMER CHEA 2FEASLICL
- 2GHHE AESL7| I8l platformT 7| X|E A&} ELICY.

import platform

import matplotlib.pyplot as plt
from matplotlib import rc
import seaborn as sns
smatplotlib inline

if platform.system()=="Windows':
plt.rc('font', family='NanumMyeongjo') # For Windows
print(plt.rcParams['font.family'])

elif platform.system{)=="Darwin':
plt.rc('font', family='AppleGothic') # For Mac0S
print(plt.rcParams['font.family'])

else:
plt.rc('font', family='NanumGothic"')
print(plt.rcParams['font.family'])

# ZE Afo|=
plt.rcParams['font.size'] = 12.

# x5 2fdAfo|=
plt.rcParams['xtick. labelsize']

10.

# y= cfdAfo|=
plt.rcParams['ytick. labelsize'] = 18.

#I2fz F EEAMOIX
plt.rcParams['axes.labelsize'] = 10
plt.rcParams['axes.unicode_minus'] = False
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3. Heatmap&+& Soll &a&4

- heatmap®+& ALE0I0] HEAIE & + ASLICL DSR(SHITHIHEALE]| O] E =

o
0.89~0.92Y 0| A&AI+E ZSLICE 23l 2le|2 2 YA +E Z= HoIE7t
DSR_DQFYLIC}. DSR DQF= DSRE|O|E{2| 2482 LIEfL = HIOIE{YLICt 7|21t $50] 0.16,
0.149] ATALE ZALICL 4BASEE B 25Y0| H2 B2 R NS YAR 2
AA = Ll EI'
import matplotlib.pyplot as plt
import seaborn as sns
#Using Pearson Correlation
plt.figure(figsize=(20,7))
cor = merge_df.iloc[:,colNum-8:].corr()
heatmap = sns.heatmap(cor, annot=True, cmap=plt.cm.Reds)
plt.show()
fig = heatmap.get_figure()
fig.savefig("solar_dsr_corr.png")
1.0
DSR_44
DSR_DQF1_44 0.8
Zheh_44 - -0.069 06
=544 014 0.4
g a4- -0.0081
0.2
1% _a4 ] 016
-0.0
HE_44-
HEeigy 2any 0.069 0.14 0.0081 016 [
DSﬁ_44 DSR_DQF1_44 LT _44 é:l_‘ﬂ B 44 7|§‘_44 GE‘_‘H HEEYE Uy
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4. ScatterS S¢oF A

- EfjQr

o o

Oft

import matplotlib.pyplot as plt

i=0

for colName in merge_df.columns:

.scatter(X, Y, alpha=0.5)
.title(colName +'~ af!
.xlabel(colName)
.ylabel('EZHE")

.show()

merge_df [colName]
merge_df ['RIFELY SEHZ']

Obt

=13
£

125 )

if i>20:

break

else:

i+=1
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4. Scatter
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V. 22id B2 els

1. 25 239 HIOIH B+l

2. CHHEF 2150| A|A|IE CIO|ESt

3. AlAIE CIO|E 2= Qo LSTMR2E 74
4. F2tA S 48 A s

5. HAE H|0|E{£ mae, msez! 2!




1. 2= 29| H|o[E Bzl

from sklearn.preprocessing import MinMaxScaler, StandardScaler

scaler = MinMaxScaler(feature_range = (0,1))
#scaler = StandardScaler()

def normalize(X,y):
X_norm = X.copy()

for name in X:
temp = X[name].to_numpy().reshape(-1,1)
#print(temp)
X_norm[name] = scaler.fit_transform(temp)

temp = y.to_numpy().reshape(-1,1)
y_norm = scaler.fit_transform(temp)
return X_norm, y_norm

X_norm, ydata = normalize(X,y)
Xdata = X_norm.to_numpy()
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HiFd g2 AMAE olojE}

& M717] flsll 28t A|ZHEO| TR 2 HIO|E & 2O M Train, testH| 0| S

def multivariate_data(dataset, target, start_index, end_index, history_size, target_size, step,
data = []
labels = []

start_index

= start_index + history_size

if end_index is None:
end_index = len(dataset) - target_size

for i in range(start_index, end_index):
indices = range(i - history_size, i, step)
data.append(dataset[indices])

if single_step:
labels.append(target[i + target_sizel)

else:

labels.append(target[i:i + target_size])
return np.array(data), np.array(labels)

sequence_length = 24
# CfS BAZIS o=
future_target = 1
STEP = 1

X_train, y_train

X_test, y_test =

= multivariate_data(Xdata, ydata, @, TRAIN_SPLIT, sequence_length,
future_target, STEP, single_step=True)
multivariate_data(Xdata, ydata, TRAIN_SPLIT, None, sequence_length,
future_target, STEP, single_step=True)

X_train.shape, X_test.shape

((6476, 24, 315),

(661, 24, 315))
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3. MAIE HIo|E 22 =S ?I5H LSTMERE 8

from tensorflow.keras import Input, Model
from tensorflow.keras.layers import Dense, SimpleRNN, Bidirectional, Dropout

h_units = 100

inputs = Input(shape=(X_train.shape[-2:]))

x = LSTM(h_units, return_sequences=False, recurrent_dropout=0.5, kernel_initializer="'he_normal')
#x = LSTM(h_units, return_sequences=False, kernel_initializer='he_normal')(x)

x = Dropout(8.5)(x)

outputs = Dense(1)(x)

model = Model(inputs, outputs)

model.compile(loss="'mse', metrics=['mae'l], optimizer=Adam(learning_rate = 0.0006))
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4. AlctA SWete 4% A

1%
o>

1. ReduceLROnPlateau : ‘val_mae’'S 7| £2 2 TepochZ Ot XA ZtHCE LOIX|X| gfod S&8S
0.52 S FL|CL

2. EarlyStopping : ‘'val_mae’'E 7|£2 & 20epochd ¢t £| A ZHECH ROIX|X| Qo™ SHES
STt

3. ModelCheckpoint : ‘val_mae'E€ 7|£2 2 O &2 X4 Z0| L™ 1 ufo| 7t5 X[ S
best.h5ot 0| X{ZetLCt.

-EUESE 245, g5S Ty L

from tensorflow.keras.callbacks import EarlyStopping,ReduceLROnPlateau, ModelCheckpoint

# 'val_mae' & 7|Z22 Jepoch&2 val_mae zl0] S0/EX] Y& ZL 7IZ2 learning_rate Ploz FoICf.
reduce_lr = ReduceLROnPlateau(monitor="'val_mae', factor=0.5,patience=7)

#'val_mae' 7} 20EPOCHESH U2{71x] god Bl&g FCish!.

es=EarlyStopping(monitor='val_mae', patience=20)

# Bf&&o] 'val_mae' 7} 718 && of 'best.h5'0| weightgls X&E3IC,

mc = ModelCheckpoint('best.h5', monitor='val_mae', mode='auto', verbose = 1, save_best_only=True)
callback = [reduce_lr, es, mc]

history = model.fit(train_data, epochs=150, batch_size=BATCH_SIZE, validation_data=test_data, callbacks=[callback])

-8+&0| ZIgE| = SO DjepochOLLt loss(mse), val_loss(mse), mae, val_maeZ= 7| &5l
Pyplotgt+E &850 J2j= 2 =QIgL|Ct
import matplotlib.pyplot as pyplot

if MODEL=='LSTM':
model. load_weights('best.h5")

pyplot.title('Loss / Mean Squared Error')
pyplot.plot(history.history['mae’'], label='mae')
pyplot.plot(history.history['val_mae'], label='val_mae')
#pyplot.plot(history.history['val_mae'], label='val_mae")
pyplot.legend()

pyplot.show()

test_loss = model.evaluate(X_test, y_test)

y_pred = model.predict(X_test)

Loss / Mean Squared Error

0164 — loss
— mae

0.14 — val_loss
— val_mae

0124

0.101

0.08

0.06

0.04

0.02
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5. HHAE H|0|E{ 2 mae, mse?} =<l

y_pred = model.predict(X_test)

y_pred

from sklearn.metrics import mean_absolute_error, mean_squared_error
from math import sqrt

mae_v = mean_absolute_error(y_test, y_pred)
mse_v = mean_squared_error(y_test, y_pred)
mae_v, mse_v
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